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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Voice Questions Overview

Voice Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is similar to
the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to elaborate the
concept used in Voice Questions.

Question

Select the correct active form of the given sentence. The injured were being moved to the hospital by the police.

Difficulty : Moderate Average Time: 29 Seconds

Options :
1. The injured was moving the police to the hospital.

2. The police has been moving the injured to the hospital.
3. The police moved the injured to the hospital.

4. The police were moving the injured to the hospital.

Solution

Concept/Grammar rules Application

The given sentence is in passive voice. Its tense
is past continuous. The structures for
active/passive voices are:

As per the rule, in order to convert it to active voice, we first
interchange the subject and object l.e. ‘the injured’ and ‘the police’.
Then we use the past continuous tense i.e. ‘was moving’.

Active: Subject + was/were + verb (ing) +

object... Hence, ‘The police was removing the injured to the hospital’ is

the correct answer.

Passive: Object + was/were + being + verb (llird
from) + by + subject...
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